7.3.8.11	Residual coding syntax
	residual_coding( x0, y0, log2TrafoSize, cIdx ) {
	Descriptor

		if( transform_skip_enabled_flag  &&  !cu_transquant_bypass_flag  &&  
		( log2TrafoSize  <=  Log2MaxTransformSkipSize ) ) 
	

			transform_skip_flag[ x0 ][ y0 ][ cIdx ]
	ae(v)

		if( ( CuPredMode[ x0 ][ y0 ]  = =  MODE_INTER  | |  intra_bc_flag[ x0 ][ y0 ] )  &&  
		explicit_rdpcm_enabled_flag  &&  
		( transform_skip_flag[ x0 ][ y0 ][ cIdx ]  | |  cu_transquant_bypass_flag ) ) {
	

			explicit_rdpcm_flag[ x0 ][ y0 ][ cIdx ]
	ae(v)

			if( explicit_rdpcm_flag[ x0 ][ y0 ][ cIdx ] )
	

				explicit_rdpcm_dir_flag[ x0 ][ y0 ][ cIdx ]
	ae(v)

		}
	

		last_sig_coeff_x_prefix
	ae(v)

		last_sig_coeff_y_prefix
	ae(v)

		if( last_sig_coeff_x_prefix > 3 )
	

			last_sig_coeff_x_suffix
	ae(v)

		if( last_sig_coeff_y_prefix > 3 )
	

			last_sig_coeff_y_suffix
	ae(v)

		lastScanPos = 16
	

		lastSubBlock = ( 1  <<  ( log2TrafoSize − 2 ) ) * ( 1  <<  ( log2TrafoSize − 2 ) ) − 1
	

		escapeDataPresent = 0
	

		do {
	

			if( lastScanPos  = =  0 ) {
	

				lastScanPos = 16
	

				lastSubBlock− −
	

			}
	

			lastScanPos− −
	

			xS = ScanOrder[ log2TrafoSize − 2 ][ scanIdx ][ lastSubBlock ][ 0 ]
	

			yS = ScanOrder[ log2TrafoSize − 2 ][ scanIdx ][ lastSubBlock ][ 1 ]
	

			xC = ( xS  <<  2 ) + ScanOrder[ 2 ][ scanIdx ][ lastScanPos ][ 0 ] 
	

			yC = ( yS  <<  2 ) + ScanOrder[ 2 ][ scanIdx ][ lastScanPos ][ 1 ]
	

		} while( ( xC  !=  LastSignificantCoeffX ) | | ( yC  !=  LastSignificantCoeffY ) )
	

		for( i = lastSubBlock; i  >=  0; i− − ) {
	

			xS = ScanOrder[ log2TrafoSize − 2 ][ scanIdx ][ i ][ 0 ]
	

			yS = ScanOrder[ log2TrafoSize − 2 ][ scanIdx ][ i ][ 1 ]
	

			inferSbDcSigCoeffFlag = 0
	

			if( ( i < lastSubBlock )  &&  ( i > 0 ) ) {
	

				coded_sub_block_flag[ xS ][ yS ]
	ae(v)

				inferSbDcSigCoeffFlag = 1
	

			}
	

			for( n = ( i  = =  lastSubBlock ) ? lastScanPos − 1 : 15; n  >=  0; n− − ) {
	

				xC = ( xS  <<  2 ) + ScanOrder[ 2 ][ scanIdx ][ n ][ 0 ] 
	

				yC = ( yS  <<  2 ) + ScanOrder[ 2 ][ scanIdx ][ n ][ 1 ]
	

				if( coded_sub_block_flag[ xS ][ yS ]  &&  ( n > 0  | |  !inferSbDcSigCoeffFlag ) ) {
	

					sig_coeff_flag[ xC ][ yC ]
	ae(v)

					if( sig_coeff_flag[ xC ][ yC ] )
	

						inferSbDcSigCoeffFlag = 0
	

				}
	

			}
	

			firstSigScanPos = 16
	

			lastSigScanPos = −1
	

			numGreater1Flag = 0
	

			lastGreater1ScanPos = −1
	

			for( n = 15; n  >=  0; n− − ) {
	

				xC = ( xS  <<  2 ) + ScanOrder[ 2 ][ scanIdx ][ n ][ 0 ] 
	

				yC = ( yS  <<  2 ) + ScanOrder[ 2 ][ scanIdx ][ n ][ 1 ]
	

				if( sig_coeff_flag[ xC ][ yC ] ) {
	

					if( numGreater1Flag < 8 ) {
	

						coeff_abs_level_greater1_flag[ n ]
	ae(v)

						numGreater1Flag++
	

						if( coeff_abs_level_greater1_flag[ n ]  &&  lastGreater1ScanPos  = =  −1 )
	

							lastGreater1ScanPos = n
	

						else if( coeff_abs_level_greater1_flag[ n ] &&  cabac_bypass_alignment_enabled_flag = =  1)
	

							escapeDataPresent = 1
	

					}
	

					else if( cabac_bypass_alignment_enabled_flag = =  1)
	

						escapeDataPresent = 1
	

					if( lastSigScanPos  = =  −1 )
	

						lastSigScanPos = n
	

					firstSigScanPos = n
	

				}
	

			}
	

			if( cu_transquant_bypass_flag
			| |  ( CuPredMode[ x0 ][ y0 ]  = =  MODE_INTRA  &&  
				implicit_rdpcm_enabled_flag  &&  transform_skip_flag[ x0 ][ y0 ][ cIdx ]  &&  
				( predModeIntra  = =  10  | |  predModeIntra  = =  26 ) )
			| |  explicit_rdpcm_flag[ x0 ][ y0 ][ cIdx ] )
	

				signHidden = 0
	

			else
	

				signHidden = ( lastSigScanPos − firstSigScanPos > 3 )
	

			if( lastGreater1ScanPos  !=  −1 ) {
	

				coeff_abs_level_greater2_flag[ lastGreater1ScanPos ]
	ae(v)

	[bookmark: _GoBack]			if( coeff_abs_level_greater2_flag[ lastGreater1ScanPos ] &&  cabac_bypass_alignment_enabled_flag = =  1)
	

					escapeDataPresent = 1
	

			}
	

			for( n = 15; n  >=  0; n− − ) {
	

				xC = ( xS  <<  2 ) + ScanOrder[ 2 ][ scanIdx ][ n ][ 0 ] 
	

				yC = ( yS  <<  2 ) + ScanOrder[ 2 ][ scanIdx ][ n ][ 1 ]
	

				if( sig_coeff_flag[ xC ][ yC ]  &&  
				( !sign_data_hiding_enabled_flag  | |  !signHidden  | |  ( n  !=  firstSigScanPos ) ) )
	

					coeff_sign_flag[ n ]
	ae(v)

			}
	

			numSigCoeff = 0
	

			sumAbsLevel = 0
	

			for( n = 15; n  >=  0; n− − ) {
	

				xC = ( xS  <<  2 ) + ScanOrder[ 2 ][ scanIdx ][ n ][ 0 ] 
	

				yC = ( yS  <<  2 ) + ScanOrder[ 2 ][ scanIdx ][ n ][ 1 ]
	

				if( sig_coeff_flag[ xC ][ yC ] ) {
	

					baseLevel = 1 + coeff_abs_level_greater1_flag[ n ] +
									coeff_abs_level_greater2_flag[ n ]
	

					if( baseLevel  = =  ( ( numSigCoeff < 8 ) ? 
											( (n  = =  lastGreater1ScanPos) ? 3 : 2 ) : 1 ) )
	

						coeff_abs_level_remaining[ n ]
	ae(v)

					TransCoeffLevel[ x0 ][ y0 ][ cIdx ][ xC ][ yC ] = 
					( coeff_abs_level_remaining[ n ] + baseLevel ) * ( 1 − 2 * coeff_sign_flag[ n ] )
	

					if( sign_data_hiding_enabled_flag  &&  signHidden ) {
	

						sumAbsLevel  +=  ( coeff_abs_level_remaining[ n ] + baseLevel )
	

						if( ( n  = =  firstSigScanPos )  &&  ( ( sumAbsLevel % 2 )  = =  1 ) )
	

							TransCoeffLevel[ x0 ][ y0 ][ cIdx ][ xC ][ yC ] =
									−TransCoeffLevel[ x0 ][ y0 ][ cIdx ][ xC ][ yC ]
	

					}
	

					numSigCoeff++
	

				}
	

			}
	

		}
	

	}
	



